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PART -1

(1) GENERAL ENGLISH

Choose the word most nearly OPPOSITE in
meaning to the given word.

Fecund
(1)  Exorbitant (2)  Sterile
(3) Inane 4 Distant

In the following sentence, one part may have
an error. Choose the one which has the error,
if any.

I/ look forward to/ hear/ from you

1) 2 3 “)

The following idiom is followed by four
meanings. Choose the one which best expresses
its meaning.

to wipe the slate clean

(1)  torestore order in an unruly situation
(2)  tostartanew and better way of behaving
3)  tomake up for a lost fortune

(4)  toremove all obstacles from one’s path

In the following sentence, out of the given
alternatives choose the one which best expresses
the meaning of the underlined word.

She has some rather contentious views on
religion.

(1)  substantial
(2)  negative
(3)  involuntary

(4)  causing disagreement

Directions for question numbers 5 and 6 :

In the following ttems a word is followed by four

explanatory expressions.

Choose the expression

which best describes the word.

5.

think tank

(1)  government agencies vested with powers
to oversee and assess policy measures

(2)  a group of experts brought together to
develop ideas on a particular subject and
to make suggestions for action

(3) amnodal agency of the state that gathers
data and informations about the citizens

(4  oval glass houses installed inside
libraries to be used by members

6.

brainstorming

(1)  asession with the psychiatrist in which
the analysand undergoes a rigorous
process of self-examination

(2) a confession in a church where the
father makes an elaborate hearing on the
past sins

(3) an activity inside a classroom which
morally breaks down the barrier between
teacher and the taught

(4)  an activity in which a group of people
meet to suggest a lot of new ideas for
possible development

Directions for question numbers 7 and 8 :

In each of the following sentences improve the
underlined part with the help of given options.

7.

He die last week after a long fight with cancer.
(1) wasdying 2  died
3) isdead (4 hasdied

She goes shopping at an every opportunity .

(1)  atall opportunity
(2)  atevery opportunity
(3)  atall opportunities
(4)  ateachopportunity

Directions for question numbers 9 and 10 :

Complete the following sentences by using the
correct form of the verb with the help of options
that follow :

9.

10.

It is instinct when to begin their

migration.

(1)  that told the birds

(2)  that tells the birds

(3) that was telling the birds
(4  thatistelling the birds

Hari always lent a sympathetic ear

1)  ifyouhad problems

(2) ifyouare having problems

3)  ifyouhave been having problems
4  ifyou have problems

18A2
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PART -1II / ¥mT-11
(1) Gen. Knowledge and Current Affairs / I I o GHATHIS T8

The Indian Institute of Vegetable Research
(ITVR) is located in which one of the following
places ?

(1) Pune 2)
(3)  Varanasi 4

Chennai
Delhi

Which of the following has recently launched a
campaign called ‘Suchitwa Sagaram’ or ‘Clear
Sea’ ?

(1)  Fisheries Ministry of Maharashtra

(2)  Fisheries Ministry of Tamil Nadu

(3)  Fisheries Ministry of Gujarat

(4)  Fisheries Ministry of Kerala

Which of the following statements about the
Preamble of the Indian Constitution is not
correct ?

(1)  The following additions were made to the
Preamble by the Constitution (42nd)
Amendment Act, 1976 : Socialist,
Secular, Integrity.

(2) The Preamble of the Constitution lays
down the objectives of the Constitution
which forms the basic structure of the
Constitution.

(3)  The Preamble can be amended under the
provisions of the Article 368 of the
Constitution.

(40  The Preamble declares that the date of
adoption of the Constitution is 26th
January, 1950.

On which of the following grounds did Sonam
Wangchuk receive the Ramon Magsaysay
Award in 2018 ?

(1) Initiative to harness creativity in
education for economic progress of
Ladakhi Youths.

(2)  Initiative to harness Nature, culture and
education creativity for community
progress.

(3)  Initiative to harness vocational training
for economic progress of Ladakhi Youths.

(4)  Initiative to harness agriculture for
economic progress of Ladakhi Youths.

Which of the following teams lost in the final
match of FIFA World Cup, 2018 ?

(1) Brazil (2)  Croatia

3) England 4  France

21.

22,
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24.

25.
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Match List-I with List-II and select the
correct answer using the codes given
below :

List-I List-I1

@  AThousand @ Stephen
Splendid Suns Hawking

(b) A Million @) Ernest
Mutinies Now Hemingway

(¢ ABriefHistory  (ii) V.S.Naipaul
of Time

(d AFarewell to @v) Khaled
Arms Hosseini

Code:
@ @Gm @© @

O @ o @ @

@ W O @ @

@  Gv) @ O @ @©

@ @ @@ G O

What is the time-line planned for achieving the
Sustainable Development Goals (SDGs) ?

(1)  31StDecember, 2025
2 315t December, 2030
(3)  31StDecember, 2035
(4) 315t December, 2020

Where among the following was the Helsinki
Summit held in July 2018 ?
(1)  Johannesburg 2
3) Rwanda 4

Uganda
Finland

The duties of Dharma-Mahamatras appointed
by Asoka are enumerated in the following
edicts :

(@  Rock EdictV

(b)  Pillar Edict VII

© Rock Edict VI

(d  Rock Edict XII

Code:

(1 (a)and (o) 2 (a),(b)and (c)
@ (b),(c)and (d) 4  (a)and(b)

Which of the following terms is used to refer to
increase in concentration of the toxicant at
successive tropic levels in the aquatic food
chain ?

(1)  Eutrophication

(2)  BioMagnification

(3)  Cultural Eutrophication
4  Both(1)and (3)
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31.

PART -II / 41 - II
(2) Reasoning Ability / difchen Srvgar

Find the appropriate term to fillin the missing | 31, i & & J@en # e wM= &t Tﬁf & faq
one in the series given below : ST Sl gﬁl‘r{ :
225, 289, 338,874, 1, 415 225, 289, 338, 374, 2, 415
1 386 2 389 1 386 @ 389
(3) 405 @ 399 3 405 @ 399

32. A started walking towards south and walked 32. A et SR =@ Nikatl & #1I 50 e
upto 50 meters and took a right turn and walked erar & fRt ag SRt iR Heehl 30 HeX Jed B |
30 meters. He again took a right turn and 9% TH o9R TR g iR gear § 8iR 100 T
yellod 10 metersand ok b wmand | et s g e -
direction ‘A’ is from starting point ? ﬁ"ﬁ 9 fepert <« R forg fean 4 22
@)} 50 meters North @ 50 HIT I
2 180 meters East 2) 180 HieX ‘ﬁ
(3) 150 meters North (3 150 HIA I
4) 50 meters South @ 50 HieX Sfaqm

33.  Select the one which is different from others. 33. frafafea @ e e aA Rm g2
(1)  Hurricane 2)  Earthquake O TeH @ ey
3)  Explosion 4)  Flood @) fawre 4) W

34. Select the correct option which is related to | 34. Frefafaa o 9 a@l fashed &1 =97 & S T 0]
the third term in the same way as second term U 3G IR Fafed 8 o9 9er 9 EGRURE LR
is related to the first. e q Hefd ¥
FKPU : UPKF : : CHMR - ? FKPU : UPKF : : CHMR : ?
(1)  XSNI (2 ZDHL (1) XSNI (20 ZDHL
3 YTPK 4  XTMJ @ YTPK 4  XTMJ

P-6 SPACE FOR ROUGH WORK / 7% & o ot stg 18A2



35.

What is the minimum number of straight lines | 35,  fo5 sl sm & faQ =[Faq €t sl it gen
required to draw the figure ? ot BTt 2
1 13 @ 1 1 13 @2 15
@ 2 @ 1 3 21 @ 1
36. Inacertain code language, ‘Always Create Idea’ | 36. st e HIET T, ‘Always Create Idea’ el ‘gl ba
is written as ‘gi ba sha’, Idea New Thoughts’ sha’, Idea New Thoughts’ F ‘ma ri gi 3R
is written as ‘ma ri gi’, ‘Idea New Solution’ is ] N
written as ‘ri gi to’. How is ‘Create New Idea New Solution’ &l ‘ri gi to’ fora s T
Solution’ written ? ‘Create New Solution’ %l ¥ ferar sram ?
(1) sharigi 2 rigiba (1) sharigi (2 rigiba
(3) barito (4) girito (3  barito @) girito
37. P QRS TandU are seated around a circular 37. PQRSTSﬁ?UEEF 1 ﬂt—r%%ﬁaﬂigg
table facing towards the centre. Hh A4S gq gl
(@) ‘R’ sits second to the left of ‘T". (@) R‘T & Eﬂ"i' g @ TIF WSS B
(b)  ‘P’isnot animmediate neighbour of ‘T". b P T & fheaq q—eﬁ'ﬂgf T =
(© ‘T sits second to the left of °S’. © ‘TSHFATH T WE W EEikdl
(d ‘Uisbetween T and ‘R’. @ UT 3R R & agd 9312
Who sits to the immediate right to ‘Q’ ? ‘Q ¥ Tehed Tl 3R FAIL?
@ P @ U 1 P @ U
@ T @ R @ T @ R
18A2 SPACE FOR ROUGH WORK /TGWQ?WW P-7



38. Find the missing character. 38. &1 9a1Ey |
1 10 @ 14 @ 10 @2 14
@ 16 @ 5 ® 16 @ 5
39. frfafed faari %1 am 5 T g e asshi A,
39.  Ateam offive basket ball playersis to be selected efE .
from among five boys A, B, C, D and E and four B, C’VD ﬁ{E T ER L P.Q R AR S H
girls P, Q, R and S following the considerations ¥ 5 Sifehesiet fae S { <p1 T 1 = fohart ST
given below : g
. A and S have to be put together. . A 3RS TRHAY @1 2l
. R can not be put with B. . R %I B & 91Y el T&1 51 9hal g |
. D and Q can not go together. . D 3iR Q Tsh WY T&i T < Fohdl & |
. C and E have to be put together. . C 3R E =l Th 91 WAl 2l
. P can not be put with R. . P sl R & 91Y =&l &1 51 ¥ehal 2 |
If two of the members have to be boys, the team Ife A9 & 3 9T oied o @ 9 § PH-H
will consist of : el i ’
(1) A, D7 S, Q; R (2) A7 B: S, P’ Q (1) A, D’ S’ Q7 R (2) A, B7 S’ P, Q
3 ABS QR @ B,D,SR,Q 3 AB,S QR 4 B,D,S,R Q
40. Question Figure (A) and (B) are related ina | 40. 931 o= d (A) 3R (B) fot foreft @ Gfa & weh-
particular manner. Choose the correct option T ¥ Hag g1 A= feu T fowed § 9 W@
from the alternatives to establish the same faeeq 1 =7 e, forget (C) o A a1 8 Hey
relationship with the (C) question figure : a ’
1ol o e ' 5
o | o= @ - : :
A TR 1 9 O | ©=1] °
A) B) ©) A VL 1
(A) B ©
D € ) © 4=~ [p=- [<x=- Pp=-
D @ D @
(1) (2) 3) @
(1) 2) 3) @
P-8 SPACE FOR ROUGH WORK / T% @13 & feg wrg 18A2
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PART -1II / M- 11
(3) Computer Literacy / sh#ZT AT

is used in implementing the cache
memory.

(1) ROM @)
3 RAM @

Optical Fibre

Magnetic tape

Which of the following is not related to web
search ?

(1)  Yahoo @)
3)  Google 4

Bing
Facebook

Firewall is designed to block unauthorized
access. It isimplemented in :

(1) Hardware only
(2)  acombination of Software and Hardware

(3) either Software or Hardware, or a
combination of Software and Hardware

(4)  Software only

A device that can convert digital signals to
analog signalsis:

(1) apacket (20 amodem
3) anemulator 4)  aswitch
Browser is a to

(1)  software, visit a website
(2)  hardware, visit a website
(3)  hardware, connect to internet

(4)  software, create a webpage

Which of the following is not an output
device ?

(1)  Microphone 2
3) CD-ROM “)

Printer

Monitor

41.

42,

43.

44.

45.

46.
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(3) AT TigeeRR H A1 ISR H, 3727d] TWieeRR
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47. WiFistands for:
(1)  Wireless Fibre
(2)  Wired Fidelity
3)  Wireless Fidelity
(4)  Wired Fibre
48. Which of the following is best suited for
preparing the result of a class of
students ?
(1)  MS Office
2  MS Excel
3) MS PowerPoint
4  MSWord
49. In PowerPoint Presentation, which of the
following actions constitute animation ?
(@ Fadingof slide
(b)  Inserting a text box
(© Inserting a graph
(d)  Specifying motion path
Code:
1 (2)and(c) @ (and(d)
@)  (b)and(c) 4  (a)and(b)
50. provides linkage between CPU and
the user.
(1)  Storage
(2)  Control Unit
(3)  Peripheral devices
(4)  Software
P-10

417.

48.

49.

50.

WiFi %1 21 € :

(1) PR B
@ e frefadd
@ I frefad
@ oS R

BEI F TH H& F IROH TR FA F AU
freafafaa & @ wF-o1 gaifis Suged €72

1) THTE AR
@ TH T TR
() THTHERIES
@ TTEEE

fordt aferRuiEe IoievH & f=fafad o forg Temm
] THHYH el ST 2

(2) TIES 1 He Bl

(b) TR SR STl |
(© U S|

@  HrE oy fafafde s

e :

(VN CYEIN) @ (a)d™(d)

@ (b)TA(c) @ (2T (b)
113, T Y o He Heh USH

FATTI

o TS

@ HIafE

@ IR fearew

(@)  HReR
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PART - III / 4wt - 111
Education / fotam

Asper RTE Act 2009, whose responsibility is to
prepare a School Development Plan ?

(1)  School Headmaster

(2)  Cluster Resource Person

(3)  Block Resource Person

4)  School Management Committee

Who is not a Cognitivist Thinker out of the
following ?

(1)  David Ausubell
(2)  Jerome Bruner
3) Tolman

4)  Albert Bandura

Best organized teaching is one in

which :

(1)  Allpossible teaching aids are used

(2)  Occurrence of learning gaps is minimum
(3)  Proper discussion is done

(4)  Students cooperation is maximum

In which of the following types of e-learning
students cannot proceed at their own pace ?

(1)  Video Courses

(2)  Social Networking
(3)  Discussion Boards
(4)  Virtual Classroom

‘Differential Teaching Session’is a component
of which of the following models of teaching ?

(1)  Mastery Learning Model

(2) Inquiry Training Model

3)  Glaser’s Basic Teaching Model
4)  Concept Attainment Model

According to Constructivism :

(1) Knowledge is construed from and shaped
by experience.

(2) Learningis a social interpretation of the
world.

(3)  More emphasisis given to understanding
and problem solving.

(4)  Learningis an active process.

51.

52.

53.

54.

55.
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57. While organising Co-curricular activities the
organisers must ensure

(1)  prize for everybody

(20 most children get motivated to
participate

(3)  thatparticipation is made mandatory

(4)  only good ones participate

58. Reporting of learners’ assessment to students
is of little value to :

(1) Know what they are doing and why they
are doing

(2)  Facilitate remedial/enrichment activities
for the child

(3)  Promote personal-social development

(4)  Promote self motivation for improving
his/her performance

59.  Which of the following is a biggest short-coming
in Indian school libraries ?

(1) Inadequate seating arrangements

(2)  Absence of proper catalogue system

(3)  Open accessibility of books

(4)  Shortage of books

60. Which of the following is not the mode of course
delivery in teacher centred approach ?

(1)  Cooperative learning

(2)  Problem based learning

(3)  Assignments and exams for summative
purposes

4)  Lecture method

61. Regarding the difference between Impairment,

Disability and Handicap, we can truthfully say

that :

(1)  Disability is the functional consequence
of impairment.

(2) Handicap refers to the inability to use
different organs effectively as normal
persons do.

(3) Handicap is also defined as social
consequence of impairment.

4)  Impairmentrefers to the abnormality of
a structure or function of an organ.
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How much time on daily basis has been
recommended by NCF 2005 for teachers to
review the day, make notes on children to follow
up the next day and organise material for the
next day lessons ?

@ 50 minutes 2
(3) 40 minutes 4@

45 minutes

60 minutes

Which of the following is the correct sequence
of motivational set ?

(1) Drive, goal directed behaviour,
attainment of goal, satisfaction.

(2)  Drive, satisfaction, attainment of goal,
goal directed behaviour.

3) Drive, goal directed behaviour,
satisfaction, attainment of goal.

(4)  Goal directed behaviour, attainment of
goal, drive, satisfaction.

Which one of the following is not an accepted
feature of an evaluation tool ?

(1)  Usefulness @)
(3)  Reliability “)

Validity
Subjectivity

In activity based curriculum :

(1)  Activities are decided in advance before
the start of the session.

(2)  The whole syllabus is transformed into
activities.

(3)  The teachers’ role is minimum.

(49  The list of activities have to be
standardized by the educational
authorities.

In a village setting, the topic “Germination of
gram seed”, can be best taught by :

(1)  Seeking support of farmers from the
community

(2) Laboratory experiments on gram seed
germination

(3)  Demonstration on gram seed germination
through models

(4)  Organizing a film show on gram seed
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67. The most accurate of the following statements
is :

(1)  Girls mature faster than boys.

(2)  Thereis no general difference in the rate
of maturation of boys and girls.

(3)  The majority of girls mature more rapidly
than majority of boys.

4  Boys mature faster than girls.

68. One reason that validity coefficients are lower
than reliability coefficients is that the :

(1)  reliability of a test sets limits on how valid
the test can be.

(2)  tests with low validity relate very high
to the criteria.

(3)  highreliability does not explain the effect
of factors like attitudes and feelings.

(4  high reliability is a guarantee that a test
is valid.

69.  Which of the following measuring tools are used
to assess co-scholastic performances of
students ?

(a)  Checklists

(b)  Rating scales

(© Self report inventories

(d)  Projective tests

Code:

1) (b)and(c) @  (©9and(d)

@)  (a)and(b) @ (@and(d

70. The basic difference between amentia and
dementia is that :

(1)  dementia is simply the technical term,
while amentia is commonly used by
layman to identify the same condition.

(2)  dementia refers to a loss, while amentia
refers to a lack of mental functioning.

(3) amentiais neurosis, while dementiaisa
psychosis.

(4  dementiainvolves a more advanced state
of psychiatric dysfunction.
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Mukesh gets easily distracted and fiddles in his
seat during teaching. He can’t read fluently
and often reverses letters and words. He faces
difficulty copying words from the blackboard
as well. Mukesh is likely to :

(1)  bedyslexic
(2)  havedyspraxia
(3)  have hearing impairment

(4)  havelanguage disorders

What precaution must an institution head take
while making efforts to mobilize financial
resources ?

(1) Avoid making compromises on the
principles governing institution

(2)  Cheap modes be preferred
(3)  Avoid e-transactions

(4)  Prefer to welcome all contributors

The names of McClelland, Atkinson and Lowell
are associated with which of the following
concepts ?

(1)  Need achievement
(2) Reward expectancy
(3)  Level of aspiration

(4)  Social motives

Organisational Climate gets marred due to

(1) Lack of resources

(2)  Parental indifference
3)  Weakleadership

(4)  Children’s indiscipline

As a teacher, while evaluating learning of
students you should avoid

(1) using variety of ways to collect
information about the students’ learning

(2)  providing feedback to students

(3)  collecting information continuously and
record the same

(4  making comparisons between them
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76.  Which of the following is a correct sequence ?
(1)  Sender - Receiver - Message
(2)  Sender - Message - Receiver
(3)  Message - Sender - Receiver
4  Receiver - Sender - Message
77. While planning a lesson, a teacher need not :
(1)  Know the performance level of learners
(2)  Worry about the expected outcome of his/
her teaching
3) Know the home background of the
learners
4)  Consult a reference book
78. When preparing IEP (Individual Educational
Plan), which of the following should not be
considered a basis ?
(1)  Individual goals to be achieved
(2)  Time frames for achievement of the goals
(3)  Preparing the IEP without consulting the
parents
(4)  Current strengths of the learner
79. The tendency of teachers to give high ratings
to students without critically examining the
quality of their work tends to :
(1)  reduce the validity of their evaluation.
(2) increase the reliability of their
evaluation.
(3)  increase the validity of their evaluation.
(4)  reduce the reliability of their evaluation.
80. Which of the following are context variables of
teaching ?
(@  Training of teachers
(b)  Abilities of children
(© Class size
(d)  Subject matter learning
Code:
1  (b)and(d) @ (@and(d)
3)  (b)and(c) @  (aand(b)
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Which of the following tests should a teacher
use to determine a student’s ability to perform
well in a particular field of study/activity ?

(1)  Aninterest inventory
(2)  Aptitude test
(3)  Performance test

(4)  Standardized achievement test

Flanders Interaction Analysis System aims
at :

(1)  reducing the time of teacher talk in the
class

(2)  increase the time of student’s talk in the
class

(3)  moderating the teacher pupil interactions
in the class

4  changing and improving teacher’s
behaviour

Young people often learn many skills working
alongside a master. This kind of learning is
known as :

(1)  Enactive learning
(2)  Operant conditioning
(3)  Learning by contiguity

(4)  Vicarious learning

What kind of curriculum is followed in Learning
Centred approach to education ?

(1)  Developmental
(2)  Spiral

(3)  Prescribed

4  Emergent

In which of the following type of test, test items
are constructed to maximize discrimination
among students ?

(1)  Criterion referenced
(2)  Objective referenced
3)  Performance referenced

4  Norm referenced
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a statement of

86. According to Mager,
instructional objectives stated in behavioural
terms has to meet which one of the following
criteria ?

(@ Identification of terminal performance
which, instruction attempts to produce.

(b)  Description of how good a student’s
performance must be, to be acceptable.

(© Description of the important conditions
under which the behaviour is expected
to occur.

Code:

1 (b)and(c) @ (@) and(c)

@) (a), (b) and (c) @ (a)and(b)

87. Inaclass of 40 students 30 students correctly
answered a test question. The difficulty value
of that question item is :

@ 75 2 10
3 25 4 30

88.  Which one of the following is not a real problem
of school Mathematics education ?

(1) Curriculum is disappointing for all
children.

(2) A majority of children are not capable of
learning Mathematics.

3) A majority of children have a sense of
fear and failure regarding Mathematics.

(4)  Teachers lack confidence, preparation
and support.

89. The chief objective of guidance is to bring about
in learning :

(1)  ability to compete successfully with peers.

(2) an achievement level that is within
student’s capacity.

(3)  attainment of mastery of subject-matter.

(4)  increased responsibility for self direction.

90. Which of the following tools of assessment yields

quantitative data ?
(1)  Case Studies
(2)  Focus Group Discussion
(3)  Portfolio
4)  Surveys
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In Indian school contexts, a textbook should not
be :

(1)  attractive
(2)  asole basis of examination
3)  lowcost

(4)  inlocal language

The concept of continuous and comprehensive
evaluation implies :

(1) A learner’s achievement in all weekly,
monthly and annual tests

(2)  Alearner’s achievement in scholastic and
literary activities

(3)  Alearner’s progress and achievement in
all school activities

(4)  Scholastic achievement of a learner

Looking at a visual, a teacher in her class said
to students : ‘What does the picture mean ?’

This task relates to which of the following
category of cognitive domain in Bloom’s
taxonomy ?

(1)  Understanding 2
(3)  Analysis 4

Application
Knowledge

Self esteem of an individual is largely
determined by :

(1)  the appreciation an individual receives
for his accomplishment.

(2) how successful an individual is in
accomplishing tasks or reaching goals
that he values.

(3)  judgments of self worth of an individual
by others.

(4)  the perceptions and beliefs an individual
has about himself.

What minimum number of working days have
been prescribed by the RTE Act 2009, for classes
VI to VIII ?

1) 200 @
(3 240 @)

220
180
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96. Which of the following characteristics is not
true of divergent thinking ?

(1)  Novelty ofideas

(2)  Correctness ofideas

(3)  Fluency ofideas

(4)  Flexibility of ideas

97. Inthe context of curriculum, which one of the
following statements is correct ?

(1)  Curriculum includes both desirable and
planned experiences.

(2)  Curriculum includes undesirable as well
as unplanned experiences besides other
school experiences.

3)  Curriculum does not include extra-
curricular activities.

4  Curriculum and syllabus are
synonymous terms.

98. ‘Assessment as learning’ may not be much
facilitated by

(1)  Standardized achievement tests

(2)  Collaborative learning

3)  Group discussion

(4  Brainstorming

99. Which of the following is not a pillar of
inclusive education ?

(1) Compulsory promotion

(2) Compulsory retention

3)  Compulsory achievement

4  Compulsory enrolment

100. For an effective instructional plan, whose role
should be minimum :

(1)  Educational administrators and planners

(2) Parents

3)  Teachers

4)  Students
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PART -1V / 9T -1V
Admin and Finance / 99T9F Td fa=

As per LTC Rules, how many times can the
Home Town be changed during entire service ?

€)) @
3) @)

Once Never

Three times Two times

The privilege of flying National flag on motor
car is not allowed to which one of the following ?

(1)  ChiefJustice of High Court

(2)  Executive councillors, Delhi

(3)  Foreign dignitory travelling in his car.
(4)  Speaker of Lok Sabha

What is the limit upto which a Group B
Government servant can receive gift on
occasions other than those when making of gift
is not in conformity with the prevailing social
practice without the sanction of the
Government ?

1 %1500
@) %5000

%2500
<1000

2
)

State which is true. CCS (CCA) Rules applying
to:

(1)  Member of All India Service

(2)  Person in casual employment

3) Member of Indian Information Service
4)  Railway servants

In which of the following cases TA to the
families of the temporary employees is not
admissible ?

(1)  who are invalidated

(2)  who are retrenched from service without
being offered alternate employment

(3)  who have not rendered three years of
continuous service

4 who retire on attaining age of

superannuation after service of not less
than 10 years.
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106. For entering into a transaction relating to
immovable property with a person having
official dealing with him/her a Government
servant will have to :

(1) give intimation within a month

(2)  seekprior permission

(3)  giveintimation within two months
(4)  give prior intimation

107. What is the maximum time limit upto which
the charged officer can seek extension of the
initial time limit for submitting his statement
of defence ?

(1) 20days @2 30days
3) 45days 4  2weeks

108. Verification of Income Tax Return filed is
required to be submitted through Form ITR-V
if the return has been filed :

(1)  Electronically under digital signature

(2) Electronically under electronic
verification code

(3)  Through transmitting data electronically

4)  Inpaperform

109. Which of the following activity is not subject
to GST ?

(1)  School providing food in hostel to the
students.

(2) Sale of old machinery and scrap by
manufacturer.

(3)  Sale of pledged goods by Bank.

(4)  Sale of unserviceable parts by transport
undertaking.

110. Which one of the following is not correct
regarding premature increment ?

(1)  Itcanbe granted by the President only.

(2)  Itcanbe granted by the authority which
has the power to create the post.

(3)  Reasons for grant not to be indicated.

4 Further increment has to be regulated
in the ordinary course.
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111.

112.

113.

114.

115.

18A2

A Govt. Servant can contribute his contribution
towards National Pension System :

(1)  upto his date of superannuation

(2) upto65yearsofage

(3)  upto 70 years of age, if one is so willing
(4)  upto 60 years of age

Donations for charitable purpose made to which
of the following is not fully exempt for Income
Tax ?

(1) Prime Minister’s National Relief
Fund

(2)  National Sports Fund

(3)  National Defence Fund

4  Prime Minister’s Draught Relief

Fund

Revised rates of CGHS subscriptions based upon
the Implementation of recommendation of
seventh central pay commission are applicable
to the employees superannuating on or after.

1 1.2.2017 @  31.12.2015
() 31.12.2016 @  1.1.2016

A Government servant was appointed on a
contract for one year which was extended to
three years. Is he eligible for L.T.C. ?

@

Contract Govt. Servants are not eligible
for LTC.

Eligible only if he is a retired Govt.
Servant.

@
3) Eligible only in cases the initial
appointment on contract was for at least
2 years.
4)  Eligible after one year of continuous
service.

What is the level of the officer to be appointed
as member of Authority for Advance Ruling ?

(1)  Notbelow the rank of Assistant
Commissioner

(2)  Notbelow the rank of Deputy
Commissioner

(3)  Not below the rank of Superintendent

4)  Notbelow the rank of Joint Commissioner
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116. In which case the CCS (Leave) Rules shall
apply ?

(1) Persons employed in industrial
establishments

(2)  Deptt. Canteen employees

(8)  Persons locally recruited for service in
Indian establishments in foreign
countries.

(4)  Persons paid from contingency

117. A sum not exceeding which of the following is
allowed as deduction for preventive health
check-up of the assessee as per
I-Tax Act :

1) Z25,000 ©@  T40,000

@) Z10,000 @  Z5000

118. The block to which the LTC is to be debited is
decided from which of the following ?

(1)  Date of outward journey

(2)  Date of completion of return journey

3) Date of submission of claim for
reimbursement.

(4)  Date of application for leave

119. Maternity leave is not admissible in case of :
(1)  Widow Govt. Servant
(2)  Induced abortion
(3)  Threatened abortion
4  Unmarried Govt. Servant

120. Which is not the criterion for recommending
retirement under FR 56() ?

(1)  Govt. servant must be found ineffective.

(2)  Consideration is ordinarily to be confined
to preceding 5 years.

(3) Ineffectiveness shall be counted even if
the Govt. servant is retiring within one
year.

4  Govt. servant’s integrity should be
doubtful.

121. Incase of absence from Headquarters for more
than 12 hours, the D.A. entitlement is at the
rate of :

1 60% @  70%

@ 100% @ 50%
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123.

124.

125.

126.

127.

18A2

Which of the following shall not be considered
to be part of cost of production for the purpose

of Valuation under GST ?

(1)  Production overheads

(2)  Administrative overheads
(3)  Interest and finance charges
(4 Prime cost

Which of the following is not Fee ?
@

Remuneration for writing of study

reports for UNO

(2)  Dividend

(3)  Income from occasional participation in
sports

(4  Scholarship received during study leave

Who is vested with the review powers ?

(1)  Appellate Authority

(2)  Revisioning Authority

(3)  President of India

(4)  Disciplinary Authority

Which of the following rules determine forfeiture
of LTC claim ?

(1) Rule9
3) Rulels

Rule 14
Rule 7

2
)

What is the entitlement of composite Transfer
Grant of a Government servant transferred to
another office at the same station involving
compulsory change of residence ?

(1)  One-third of 80% of last month’s Basic
Pay

(2)  One-third of last month’s Basic Pay

(3)  Half of 80% of last month’s Basic Pay

4)  80% of that last month’s Basic Pay

Which of the following is not true ?
CCS (Conduct) Rules are applicable to :
@

a member of All India service.

(2) aperson appointed as personal staff of
the minister.

(3)  every person appointed to a civil post.

(4)  every person appointed to a civil service.
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128. Which of the following is a major
penalty ?

(1)  Reduction by one stage for a period of one
year with cumulative effect affecting
pension.

(2)  Reduction by one stage for a period of two
years without cumulative effect not
affecting pension.

(3) Reduction by one stage for a period of
three years without cumulative effect not
affecting pension.

(4)  Reduction by one stage for a period of one
year without cumulative effect not
affecting pension.

129. Which of the following is not admissible for
reimbursement under CS(MA) Rules ?

(1) Expenses incurred in connection with
operation for sterilisation.

(2) Treatment by a private dentist

3) Expenses incurred on medical
termination of pregnancy.

4)  Expenses incurred on treatment for
venereal diseases.

130. The Competent Authority for various purposes
1s :

(1)  The Secretary of a Department

(2)  The authority who has been conferred
powers under FR - 6

(3)  The supervisory officer of an employee

(4  The appointing Authority

131. Which of the following is correct ? Every

Government servant shall at all times :

(@) maintain high ethical standard and
honesty

(b)  take decisions solely in public interest

(© not do anything contrary to law

Choice :

o ® @ ©

@) (a), (b) and (c) @ @
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132.

133.

134.

135.

136.

137.

18A2

Within how much time can the Appellate
Authority revise any order made under CCS
(CCA) Rules ?

@®
®)

Two months Six months

2
@)

One year One month

Which of the following does not constitute a
permanent disability ?

(1)  Renal Failure

(2) Hearing Impairment
(3)  Mental Retardation
(4  Blindness

To what extent reimbursement of local journeys
at the station of visit and incidental expenses
are admissible under LTC rules ?

(1)  Not admissible

(2)  Only transport from house to Railway
station/Airport/Bus station admissible

(3)  Only porter charges admissible

4  Incidental expenses admissible but local

journeys not admissible

What is the time limit within which the
charged officer has to respond to the charge
sheet ?

1) 10 days
(3)  Onemonth

@)
)

15 days

One week

A Government servant wants to buy immovable
property outside India. She/He applies for
permission but does not receive a reply. After
how many days from the date of receipt of his/
her request can she/he presume permission :

(1) 30days 2 60days
3) 90days 4 15 days

A Govt. servant does not retain lien on a post :

(1)  While holding a temporary post

(2)  While under suspension

(3)  Onhis appointment in any autonomous
body on direct recruitment.

(4)  While performing duties of another post
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138. Additional secretary and DG, CGHS has power
to settle the Hospital Bills at approved rates of
CGHS pensioner beneficiaries to the extent
of :

(1) 15,00,000 2  20,00,000

3 ¥25,00,000 4  %10,00,000

139. Booking of Air tickets from whom is not
permissible under TA Rules ?

(1)  Ashoka Travels and Tours

2 IRCTC

3)  Any Travel Agent

(4)  Air India Booking Counter

140. Within how much time an appeal under Rule
25 may be preferred :

(1) 30days @) 45days

3) 60days 4 15 days

141. Which is not correct about foreign service of a
Pensionable Government Servant, ?

(1)  The leave salary contribution is required
to be paid.

(2)  The leave salary contribution for the leave
taken while in foreign service is required
to be paid.

(3)  The contribution must normally be paid
by the borrowing organisation and not
by the employee.

(4)  The pension contribution is required to
be paid.

142. For how many days of continuous halt at a
station on tour/temporary transfer/training full
DA is admissible ?

(1)  First 100 days (2)  First 180 days

3)  First 360 days 4  First 30 days
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143.

144.

145.

146.
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Which of the following is not correct ?

(1)  The wording of the charges should be a
clear expression of opinion as to the guilt
of the accused.

(2)  Multiplication of the charges on the basis
of the same allegation is to be avoided.

(3)  The charge may relate to matters which
have already been the subject of previous
inquiry and decision if it is one of
inefficiency or incompetence.

(4)  The charges should be clear, specific and
precise.

In which of the following cases filing of Income
Tax Return is not obligatory for a Government
servant ?

@ Total income during the previous year is
less than the maximum amount not
chargeable to Income Tax.

(2) Notaxis due to be paid.

(3)  Taxliability has been discharged through
self assessment.

(4  Income Tax has been duly deducted by
the DDO and certificate issued.

GST council is the Apex Constitutional Authority
to decide policies of GST. It is presently headed
by :

(1)  Union Home Minister
(2)  Prime Minister of India
3)  Union Commerce and Industry Minister

(4 Union Finance Minister

If an order of suspension has been reviewed by
the Competent Authority and it is decided to
extend the suspension, how much maximum
period can the suspension be extended at a
time ?

1) 90days 2
(3) 120days “@

180 days
60 days
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147. All Government Drawing and Disbursing
officers are required to file certificates of TDS
by :

(1)  5thofthe following month

(2 Notrequired

3) 31lduly

4  31May

148. Aistransferred to North-Eastern region from
outside the region. His family does not
accompany him. What would be his entitlement
to carry personal effects if he does not carry his
personal effects ?

(1)  Cash equivalent of carrying 1/2 of his
entitlement.

(2)  Cash equivalent of carrying 1/3'4 of his
entitlement.

(3)  Cash equivalent of carrying 1/4th of his
entitlement.

(4)  Cash equivalent of carrying 3/4th of his
entitlement.

149. For the purpose of Central GST Act the
expression ‘Supply’ includes :

(1)  Activities or transactions undertaken by
State Government.

(2)  Activities or transactions undertaken by
any local authority notified by Central
Government.

(3 Importation of services for a
consideration.

(4)  Activities or transactions undertaken by
Central Government.

150. Which of the following is not admissible under
CGHS package rates ?

(1)  Admission charges

(2)  Costof toiletries

(3)  Monitoring charges

(4  Registration charges

-00o0-
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The manner in which the different questions are to be
answered has been explained in the Test Booklet which
you should read carefully before actually answering the
questions.

Out of the four alternatives for each question, only one
circle for the correct answer is to be darkened completely
with Black/Blue Ball Point Pen on Side-2 of the OMR
Answer Sheet. The answer once marked is not liable to
be changed.

In case of any discrepancy in the English and Hindi
versions, English version will be taken as final.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray mark on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet Code or Number and Answer Sheet Code or
Number), another set will be provided.

The candidates will write the correct Test Booklet Code
and Number as given in the Test Booklet/Answer Sheet
in the Attendance Sheet.

A machine will read the coded information in the OMR
Answer Sheet. Hence, no information should be left
incomplete and it should not be different from the
information given in the Admit Card.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card, Black/Blue Ball Point Pen and ID Proof inside the
examination hall/room.

Mobile phones, wireless communication devices (even in
switched off mode) and the other banned items should
not be brought in the examination halls/rooms. Failing
to comply with this instruction, it will be considered as
using unfair means in the examination and action will be
taken against them including cancellation of examination.
Each candidate must show on demand his/her Admit
Card to the Invigilator.

No candidate, without special permission of the Centre
Superintendent or Invigilator, should leave his/her seat.
The candidates should not leave the Examination Hall/
Room without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. The candidates are also required to put their
left hand THUMB impression in the space provided
in the Attendance Sheet and affix his/her photo at
prescribed space.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and Regulations
of the Examining body with regard to their conduct in
the Examination Hall/Room. All cases of unfair means
will be dealt with as per Rules and Regulations of the
Examining body.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand
over the Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away
this Test Booklet with them.
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